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5. SINIF | KISA YOLDAN ÇARPMA - BÖLME

UYGULAMA - 2

a. 45 x .......... = 4500

b. .......... x 7 = 7000

c. 230 x .......... = 2300

d. .......... x 13 = 3900

e. 12 x .......... = 732

f. .......... x 37 = 1443

g. .......... x 22 = 2640

h. 45 x .......... = 4545

ı. 27 x .......... = 3321

i. 33 x .......... = 3960

j. 13 x .......... = 377

k. 61 x .......... = 6405

a. 5000 ÷ .......... = 5

b. 7000 ÷ .......... = 7000

c. 8000 ÷ .......... = 800

d. 1250 ÷ .......... = 10

e. 765 ÷ .......... = 1

f. 9870 ÷ .......... = 1645

g. .......... ÷ 20 = 50

h. .......... ÷ 80 = 70

ı. .......... ÷ 725 = 1

i. .......... ÷ 123 = 20

j. .......... ÷ 57 = 30

k. .......... ÷ 469 = 80

1. Aşağıdaki çarpma işlemlerinde verilmeyen 
    sayıları yazınız.

2. Aşağıdaki bölme işlemlerinde verilmeyen 
    sayıları yazınız.

Uygulama - 2’nin
cevap anahtarına
ulaşmak için
karekodu okutunuz.


